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fHdinti Jurei

(Straight Lines)

* Geometry, as a logical system, is a means and even the most powerful
means to make children feel the strength of the human spirit that is
of their own spirit. — H. FREUDENTHAL*®*

10.1 ghar

At fJugsd Bt 3 € fenret fagen »ig fanrfest 3 e o Idu 39 '3 feo
i arfeg w3 fadrfest e AdHs 31 9iF aife3s <t =93 a9d favrfest e ged
a1 5% mftia AF 3 UfgsT HAga eamHt eranfed W3 gife3 fefariat Rene
Descartes & 1637 &9 yaiz »muet UA3d La Geometry few Ji3T At I fem
Ur3a 3 fadrfest € wifons fS9 =9 € mitade e fega w3 Adfug femsnes
fetbut v mdg gfemr | favrfeat wiz ferdre e ufgent Aoias o< femdaesva
farfest & Um gaer I fusstt At feg At fasgew »ig fanrfest e
mifois Bg 3T fan <9 At fsaen »ig-u9, fagewm »ia 3%, 3% feo fdgmt &
WBfYZ JaaT, @ ot fegarg gdl, fegws A39 wife e wfors a3 feg ene Descartes
At arasTet fagen W et e wue 95 | (1596 -1650)

g fusst it &9 St fagen wia fanrfest €t goaet adie | guaret &t XY 35 <9 (6, 4) W3 (3,
0) fdgmt & 937 10.1 feg warfenr faprr 3

forrs fe§ fa fig (6, 4) T& x I9 3 y-T3 T 6 feaet gt 'I w2 o '
foz-y-u9 € 5% x-u9 3 4 fearet gat '3 1 few 397 f&g 3, 0) us| :
x-U9 € 3% y-ud 3 3 fearet gdt M3 1-u9 3 fAsg gt 3 91 :
wit 35 fodnt Wig=yae gat er S mfmis stgrdr 0 oottt $(6,-4)

L P(x, y) "3 Q (x,y, fdgnt @ fegaaat gdt J1

3,0)

PQ=\/()C2 - X )2+(y2—y])2 fds910.1
Gergge € 39 '3 fdent (6, - 4) M3 (3, 0) € fegaast gat J1
J3-6)+ (0+4)’ =/ 9+16=5 fearet

1L (x, y) "3 (x,y, ffgnt & fe@e =8 qur d3 § niegat m: nmigug fee Sz s fig @

Mmy,+nyx my,+ny,
m+n  m+n )
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Gegge wEt fdent A (1, -3) M3 B (-3, 9) & He 8T =& Jur d3 & niegst Mau3 1: 3 feg <3<

1(-3)+3.1 .
(=3 0 wT = 1.9+3.(-3) py—

TF fig € fogem vig x=
= 1+3 1+3
111 femm gu fSe Ada m = n 3t (x, y) M3 (x,, y,) fhent § fis@c =& Jur d5 @ Wy fifg < fegen

e X1+XZ’y1+y2 I5
2 2

1v. fggm e u39es fAne e (v, y), (v, y,) "3 (x,, y,) TS|

1
5| a(y,= v+ 2 (5= y)+ (- v,)|

Gerae et f3gw = uz9ew fame fug (4, 4), 3, - 2) M3 (- 3, 16) T

1 |- 54|
5| 4(-2-16)+3(16—4) + (-3)(4 +2)| == 27

e fZuzt| 799 f3gd ABC T u39e® fAgg J 37 35 fdg A, B i3 C fEq ot 3ur 3 J=aJ1 »ige3
€T miadt a5 |
fen mfomrfe feg fagen wig fmirfest 3 nifors & Ao fmrfest f939-Ha® Jur et femma=r €
nifris et At Jutar | fen €t Ags3T € 9 3 <t Jyr farfest &t fea vu3=yas uasT I w3 Ars
JAsT Hies € migge 9 g3 It 399 3 Qutieht gu & mrfus J1 feg AsT Wy G dur e
girarfe3a fague I fAm ®et @57 (Slope) &t ugaT 993 Tt Agat J1
10.2 3y €t == (Slope of a Line)
foq JuT, fagon »id 35 &9, x-Ud €@ &% € g ga@<t I A
»rur {9 YT J€ 95 1 d< 0 (& Q) 7 3uT /, x-Ud € T&s™3HdT
fenr @ &% gt T W3 w3t €t et € Gxe fenr feg Wil
Her J, JUT [ € g Jar8eT I AUEE 39 'F 0° < 0 < 180°
(f§39 10.2) |

i SUS T o x-T3 & RWET AT AUTS uret @ gemn 0° 180> 6
ger T fea ugt 3y (y-ug € ANT3T AT AUTSY) T A 90° T

Y
A

ufggmr 1| #a9 6 fam JuT [ €7 3™ T 37 tan 0 § JUT [ € TF'E
gfde a5 | 14 f¥3910.2
€17 Ju faw = ga™ 90° 3, &t €% ufggazg &dt J1

feg qur &t €% § m &% wIATenT HiET I

few 39t m = tan 0, 6 = 90°

feg Sftrm AT AaeT I x-U9 € €8T 0 J y-ud € g% ufggag &t J1
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10.2.1 3y &t g7, A€ 67 6*ug € fiem € f5aer wa €3 i

T Aree It fa Aae fEa Jur §ug © fig &3 g 37 Qu ydt 39t ufgg s et 31 fem &t it qur
@ e & Gn Qua &3 € fdent € fagen »igt € yet feg u3™ aae 77|

Y
s I
Q(x, )
P30 [
0
/| ]
0O R >X
f¥se 10. 3 (i)

He 88 € fdg P(x,, y,) 3 Q(x,, y,) 3™ 4FT (non vertical) 34T 3 I& fAR B 3™ 0 I | AUFE 39
3 x, #x,J, 541 3T YT x-UT 3 BY It I M3 7 € gy ufeeaz st 9=ait | JuT = gamor falws
d< 7 wfad d< T AgeT I 1 WAt st Afagtut & fegrae ot

BY QR, x-Td 3 fdg w3 PM &9 RQ fi9 fA= f¥39 10.3 (i) 3 (ii) feg feurfomr I
AfEst 1 A9 d< 0 fo@ads T

f939 103 (i) ff9, ZMPQ = 0 (1) Y
N
few »et, JuT | € €%’ = m = tan 6. N
\ Q(x, y,)
4z AMPQ, fe9 A3 &% tan0 = 92 = 227N (o)
= MP X, — X /
L . - ] 180~ © P
MHteae (1) W3 (2), 3 Wit yrug e af m = 2221 M 60 32)
Xy =X 0
. _ - | > X
Afegt 2. A€ d< @ mifug = ol r N 7
939 10.3 (ii), ffe 73 a& f¥z9 10. 3 (ii)

ZMPQ =180° - ©
fem ®et, 6= 180° - ZLMPQ
J< 9uT | € €%
m = tan 0
= tan ( 180° — ZMPQ) = — tan ZMPQ

MQ_ y-y 27N

MP x—-x, %74
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531 =7 »iAt Sue T fa 5T Afagtat few dur [ €t g8 A et (v, y) M3 (v, y,) fo8 Bwet 3

= Yo= N 3

XX
10.2.2 € Jy'=’ € AHFT MI YIAUT BY JE €1 €8T € gy €9 HazF

e B8 T 3% feu sm-ug=t Juet | W3 [, €t €8S g9 m, M3 m,J M3 §IaT & g3 gH=d
amI BJI

fgs910.4

Hag U=t | M3 |, ANT39 J 3T BT € g9 99 I | I
o =B M3 tan o0 = tan B
few set m, =m, < GIst & TH'E gIHT J |
ferr € €% Ad9 € Ju=t | M3 [, T EB'T TEI I
MIETS
m =m,
3T tan o = tan 3
gHe e%a < femmaT 3 (0° M3 180° € fegam), o = p.
fen et gyt AH39 I5 |
fen Bt € sT-ugTT JuT=T | M3 [, ANTIT I& Ad9 M3 e A9 f € €F T F9re J|

Had U=t | M3 [, 9 35 (f939 10.5), 37 B = o0 + 90° Y
few ==, tan B = tan (o0 + 90°) YN
‘l\ Iy
1 2
=—cotou=———
tan @
mMIET3 1 AN < >X
m,= ——
oom KO N
- S ffs910.5
f%ﬂ@@'&?ﬁa'amlmz = —1,M3dg3 tan o tan B =— 1

3T tan o0 = — cot B = tan (B + 90°) AT tan ( — 90°)
few e, o M3 BT W37 90° T
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MaET3 Ju=t | M3 |, WMun feu B9 I |

fen &€t € 37 ught Jur=t Mrun feu B9 Jehit 95 Fag 3 fAge Ad9 8o & eve feq gn ©F
faeava €8 Fe=3H) I |

1

WagTg m=——

m

Hr mlm2=—1
W g3 Gergget adle -

Gugas 1: U=t T EF T UIT AT A
(a) et (3,-2)m3 (-1, 4) &5 Bwet g,
(b) fdgnt (3,-2)m3 (7,-2) f&F Bw=t T,
(c) fdent (3,-2)m3 (3, 4) f&5 Bw=t T,
(d) TSIHT x-Ud 378 60° € d< g=ger I
35 (a) fden™ 3,-2) M3 (- 1, 4) ST Sust Jur St ez J

4-(-2) 6 3
= 5 _ 2

-1-3 -4 2
(b) fdemt 3,-2) M3 (7,-2) S Suet Jur St gz= I
-2-(=2) _0

7-3 4
(c) fden™ 3,-2) M3 (3,4) ST Fwet Jwr St ex= J
_4-(=2)_6 _ =
33 O,Frfarufaa'rmg?;a"rm
(d) f&F 3y =7 g™ oL = 60° J fer et JuT & 5’
m = tan 60° = /3

10.2.3 & gy=T € fegag €T a&
Ae it fieq It 3% <9 Afeg fea 3 <u quret g9 fegrg aae It 3T WAt @ye of fq A7 3T feg
T JuTEt deeit I8 AT AHT3T 7% | 8T it € Juet € fega d< ¥4, €8F & ¥v= € nufas,
fegrg aafar|
He B8 L, 3 L, € aT-uz<hit duret 95 fAgt & g% giEe m, M3 m, I 799 o, M3 o,
FHIG U=t L M3 L, € g I5, 3t
m,=tana, W3 m,=tana,
I& fa g€t & € 3= det € A% 180° deT I HE B 0 »3 ¢ y=t L, M3 L, (939 10.6) [T &
Ba< d< I6 3T
=0, -0 M3 o, #90°
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few ®et tan 6 = tan (o, — ) = anon—ano _ m—m (fH@"fH’l+mlm2¢O)
I+tangy taner, 1+mm,

M3 ¢ = 180° — 0 fer Zet

m, —m,
tan g =tan (180° -6 )=-tanO= ———— as | + mm, # 0
1+mm,
< © Afggtt er et o5 -
Y L,
A L,
0
¢

/’( " >X
e © J

fg3910. 6

Afast 1 Aag 72" gaTang § 3 tan © TETIHT T2IT M3 tan ¢ faeTana, fAmeT »eg J 0 fab=
1+m,m, -

g M3 ¢ Moy d< J<ar|
Afast 2 ﬁw{nzlmﬁﬁ,?tanemaﬁéwv@tan¢mﬁmwmﬁenﬁw
+mym,
e m3 ¢ fa€s d= J=ar|
MIEI JU=T L, M3 L, Tt @8t m, M3 m, fESbot arebuit 75 @ fegama fs@a = (s 38 0)

my—m

tan O = , fig 1+mm,#0 (D)

1+mm,

wifaa d= Mfenr fa ¢) ¢ =180°— 6 € Y&dr 578 YUz 99 Aae I

s R [N N -
Geggs 2: € gyt € fegag de 1 J m3 fq qur &t gs= E,Ug?ﬂwe’rmwarcrl
I . oA Aee I T m, M3 m, THE THEMT € Juret fegad fsGs d< fern 39t I fa

tanE):‘u e
1+mm,

- T
,my=mM3 0=—

He 88 m = 1

1
2
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ge fegst a3t § (1), feg due '3
1 1
T m—a ) m—a
tan—= I H 1= I ,
4 1+—m 1+—m
2 2
1 1
m—— m——
fam 3 2 1 7t 2 _
1 1
1+—m 1+—m
2 2

f93910.7

. 1
MIg3 m=3 H' m=—§

=~ . la [9) V] - ] v) a EN
%ﬂzﬁgﬁwﬁm3w—§ 311939 10.7 f9 € €°39 € I9& AUHE 13T faruT T

Gemaee 3: (-2, 6) M3 (4, 8) fdgn ST Bwe &1 3T (8, 12) M3 (x, 24) g ST Bwes =&ty 3
BT T x T HS UIT AT |

9% 1 (-2, 6) M3 (4, 8) fdgnt &9 Bwet qur &t €<

8-6 _2 1

4-(-2) 6 3

(8, 12) M3 (x, 24) fdgnt &9 Swet ur &t gs=

24-12 12
m2: =
x—38 x—38
faQfa € <t 89 g
mmE:—Li?wu3§€Tﬁ

my =

112

3 x-8
10.2.4 f&& fdewt et aHafaasT (Collinearity) WAt Aree It fa vy
< ANT3T JuTeT €t €' §9799 gt J| Aa9 € duet fAagt €t
Jaitt | fem Bt 799 A, B M3 C, XY-38 feg fds fig g5 37
€1 f€a 3y 3 J=ar migg3 35 fdg Myt d=ar (f939 10.9)
A9 M3 d<% Aad AB ©F €%’ = BC € €5 |
Gegee 4: 35 g P (1, k), Q (x, y) M3 R (x,, y,) e Tt qur
Iffgasifer@fah-x)0,-y) =Ck-y) x,-x) /
7% : fa€fa fdg P, Q W3 R middt U5, A8 a& fg7 10.8
y,—k _ Y27
x—h x-x

=—1 A x=4.

PQ € %' = QR T &', A fa,
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1—_|-i- k_yl Yo=Yy

h—x  x,—x

Cu (h—x) (y,—-y) =k=-y) (x,—x)
Ewrgee 5: f939 10.9 f&T, it arst = Mt w3 gat em My Y
ferJImu3giteemaAe T=0,D =23 A<
T=3,D=28J Tdd a3 I I&5| EB'< & grasT &7 YGar
Jae J%, I3t =7 fau u3T 49 wiger3 fam yarg gdt, a3
fsggg aget I
75 Hes B (D) Jet ffg qur I JIffE TAX I DERt &
Torger 31 few ®et, fdg (0, 2), (3, 8) M3 (T, D) AHHT
%, fem 397 /
o

D)

eat

T (T)
fgge 10.9

—=—— # 6(T-3)=3(D-9)

| mfemm 10.1 |

1. IS 3 (Cartesian Plane) fS9 fea 93g9gw fis, fame fmyg (— 4, 5), (0, 7), (5, - 5) M3
(— 4, -2) I& | fex €T 439e® =T U3T T |

2. fea aHg#t f3gw famet g7 2¢ 9, € wUd y-ud &% fen 3gt Aust J fa few mumg & o s
fag J1 f3ga € fg usT 39|

3. P(xl,anréQ(xz,yz)érfeasrraﬁga%usTa%ns—?:(i)PQy-g%E‘rmrisa?n(ii)PQ,x-g%ér
AHT39 J|
x-g9 3 §v fdg u3T 339 7 fdewt (7, 6) M3 (3, 4) 3 g9¥g gt 3 J|

5. ffg Jur &t g8 U3 J9 A ¥& fdg w3 fdent P(0,-4) M3 B (8,0)§ @B @ qurds €
Hu fég &9 Swet 31

6. yrfegdion faGan €f =93 a3 fast few@ fa fdg (4, 4), (3, 5) M3 (-1, -1) ST f3gA € fug
I5|

7. €W 3uT € BT UIT 99 A USTINT y-Ud &% WSt € §Et € €8¢ 30" € d< gt I

8. x T HS U3T &3 fAm &t g (x, — 1), (2, 1) M3 (4, 5) AHHT I |

9. gt §39 € =93 A3 faat few® fa fde (-2, - 1), 4, 0), (3, 3) M3 (-3, 2) AHT37 I39gH © g
T |

10. x-g3 M3 fden (3-1), (4,-2) & e @< '3 gt Jur € fegag d= U3 T |

~ = ~ == - v a3~ - . S = .32\, 1;.
11. mwﬁm,mwwﬁruweygdmUlﬂo(dea-Ef‘e‘ﬂo(-deaa'@zﬂ?ga?
Iyt It BT U3T a9 |
12. I3 (x, y) "3 (h, k) fSS Bwet I1 Fa@ 3ur &t @& (Slope) m I 3t feu@ fa k—y, = m (h—x)
b

13. ﬁaﬁféﬁfﬁg(h0),(6!,b)"@(O,k)ﬁHﬁH*’iﬁésffew@far%+;=1
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YN e

14. Jat {3 Aanftprt w3 A € J97e 3 fega a9 (f¥39 10.10), 34T AB € €& U3T a9 M3 fen
o 93 J9v I¢ U3 J9 fa & 2010 &9 danfymT fdat g=ait ?

(1995, 97)

(1985, 92)

o N
© o o o o > X
O 1985 1990 1995 2000 2005 2010
S

f93910.10

10.3 34T €t milade € U-|Y U (Various forms of the equation of a line)
A Aree of fa ffa 3% ST 3ur 3 »ia 3 fde J€ us | ur 3 g fegarg feu Adg Arg favsfaus
M & % 9s feg morfea 9 :

T fam 3gt afo mae of fg fe3r fdg, &3t 9t gur '3 | few & €39 feu T Faer 9 fa fEst
JEt JuT BET S I fdgnt € duT '3 I €t fea fonfez maz 9ot gdtet 31 s &€ P(y, y), XY-3%
feg fea nifenfez fig I w3 L fea &3t 38t qur 31 L &t mitdee &€t mit fea mifag ggs 7 #es &t
J9&T FIGT Ige I A 3T I HE I, A€ P, L €3 I, a1 37 g5 J| fast W fev qus € mfmar
grarfe3a Mflade T fAn feg 98 x W3 y IHs d€ I8 | g, wiAt 39T <t Afiade 979 2Y-24 73T
Uls 9997 9T |

10.3.1 B2hy™ M3 yg<bn* gyt (Horizontal and Vertical Lines) #ad féaq St duT L, x-gd F a gt
'3 T 33U & g9 fdg & Jet AT 3T a AT — o T [fH39 10.11(0)] fom Bt L 3ur €t mitage A7 37y =
ad@y=—q 395 &t 9=, fov '3 faggg qo<t T fa Jum x-ug € €yg T AT I&* I fev 3¢, » U3 F
bg—cﬁ’éﬂf&?fﬂ&'@%’f%@’fﬂ)—ﬂ&ﬂ?#?x:b%#x:—bﬁyﬁéﬁ10.11 ()] 1

Y L A L
A y=a A A
< x >L
xX=— b>
a
. b x=b
X// v \X X', \X
a.
-
< Y > L
v v
3% v
Y' (a) (b) vy

fése 10.11
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Gemaee 6: gfent € AHT3T w3 fdE (- 2, 3) fRT Bwehdt Ju=t &bt mitagest fad |
I% . gyt €t Afagt 939 10.12 <9 feuret aret 31 -9 € M3 dur € g9 fie <t d<t 3 9, fem =&t
x-Ud € AT M3 (- 2, 3) o9 faame ==t Jur &t mitaas y = 3 T1 few 397 y-ud & AHizd w3
(2, 3) &9 fea®e =&} gy @ mildde x = - 2 J1 (f§39 10.12) |

Y
N

x:_
-2,3) y=3

N

f¥se 10.12

10.3.2 fHE"—E’?B"E'gU (Point-slope form) & &€ P, (x, ¥,) f&a &r CEC wLfAmStEse md 3
forfes (Fixed) fdg T1 15 88 P(x, y) 34 L '3 f€a mifsnfez fdg 3 (f¥39 10.13) 1

I+ Ufgg™T MgHd JuT Lt €% I

P(x,y)

Py(xy y0) eBETm

f§3910.13

. T, y—y,=m(x—x,) (1)

fa@fa fdg P, (x,, y), L€ A9 fdent (v, y) T &% (1) & H3He J9eT I 3 <9 Jet 39 fdg (1)
HaHe &d1 ader J | fen Bet milaae (1) It »ms f&g 3t Jum L &t mitaas T

few 39t fonfes fdg P (x, y,) <9 Bwe =8, @8 n & oy '3 fdg (v, y) T Aa9 #3 fige
#ad fen € fosgen »ia mitaee
Y=Y, =m(x—x) §ﬁ3ﬂ?aa—€fam
Gurggs 7: 3yt € mildde U3t a9 H (- 2, 3) 9 Swet I w3 faret g% - 4 T
I ffEm=-4m3 3T g (v, y)=(-2,3)3
fégewa'gu(Point slope Form)&?ﬂ'(l)@‘@'&"’@ﬂ'mﬂmﬁ'
y—3=—4(x+2) At dx + y+5 =0, 7 fa Bt mitags T

HD-I:
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10.3.3 @'ﬁggU (Two Point Form) H& 8@ JyrLfeg e e fa"gmr P (x,y) e P, (x, y,)) fe9 Bwet
I M3 P (x, y) 3y L '3 aEt »imd fig T (939 10.14) |

Y
A L
P, (x5 3,)
P, )
\’y)
¥
N
X
g 0 -
feg10.14
fd= fde P, P,»3 P AHaut o5 fen st A d&
PP E®<T = PP, & €8
Y=Y _ Y=Y - Yo=Y
gz b=l #7 y—y ="2—T(x-x)
X— X X7 — X X2~ X

f%ﬂWfﬁgﬂﬁ(xl,yl)@(xz,yz)ﬁﬁmgrﬁﬁw@mﬁz

yoy =N a—xy) 2)

X2 7 X1
Eegae §: qur & mitaee b 7 fdent (1, -1) M3 (3, 5) fes Bwet I
5 g =1,y =- 1,x, =373 y, =5, Qudax I 3ur &t milage e < fig gu & =93 95 3,
S 3%

5—(-1)

-(-1)= x—1

y-()=2E00-
U —3x+y+4=0,q fa St mitges 9

10.3.4 @8E-#F94s U (Slope-intercept form) e T 9 FI"?=§ & Jur & g w3 8w o fan fea
Ud '3 o Mgz I 8w Jur & Areadt gt I

AfEst 1 He 8 e8e m =@t dur, y- g3 IHs fdg Fcgdt 3 X
deet I (f93910.15) | gat ¢, 3uT L &t y-nigeds aor@<t J1 L

Aure 39 3 @w fig @ fagem »ia fig 3ur y-u9 § fuset 3,
(0, ¢) I1 fem 3g7 3ur L &t g%< m I M3 feg fanfaz fde (0, o)

ve. o N o - = 0, c

fS9 Bwet 91 fem Bt fig Ta< gu 3, 3um L &t milade J1 @«é“‘ ©.9
y—c=m(x-0) AT y=mx+c X' € >X

fow w2t fife (x, y), 3 fR & ToTe mond yoigadE ¢, T K 0

J=9 Aad M3 e Aaad ‘53 10.15

y=mx+c ...(3)
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3¢ d9 fa ¢ T W& usaHa A fae3Hd J=ar | A9 y-Ud 3 %34T qHIT TSI A faesana
g1 3 gfenr T
Afast 2 W 38 g8 m & 3uT x-U9 3 d 398 578t I 3T L JyT € mitaas

y=m(x—d)%l o (4)
fefenragt ye fern mitaee & Afest-1 Mieng YUz &9 Aae 75 |

~ . — 1 o~ -~ 2 ~ o o
@m9:@WWETe‘Tmﬂaa€ﬁwfﬂﬂm°rtane=E,fﬂaewwgwanm(i)y-m
3 N a - a
-3 J (ii) x - Mi3IFT 4 T |
. - [N . 3. . .
aw:(i)fezrw@rmm:tane=Ev|3y-maau3c:—galfengﬁmvm§u(3)3w
< mitaes
1 3 .
=—x—— " 2y-x+3=0
y 2 2 y b
H fa 31t mitaas T
oS N = 1 =~
(i) €8, A8 % m = tan O =5m3d=4
fer set, g8 »izgqds gu (4) 3, JuT <t mildae
1 .
y=§(x—4) H 2y—-x+4=0,
# fo 31t mitaas J1

10.3.5 #za4s U (Intercept - form) W& G L 3uT, gfemt 3 x-n394F o M3 y-»39¥s b =Gt J1
mime 39 '3 U L, x-U9 & g (¢, 0) M3 y-ud & fdg (0, b) 3 de<t T (fF39 10.16) |

LY

A

&(O,b)

b

M (4,00
ofc---- a Ny

b-0

O—a

y—0= (x—a) A ay=—bx+ab
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I3, Zidog
a b

fen 3g7 x - WS y - T3 '3 IHET o M3 b MIIUT s=78< TH JyT &t mitddeT I—

idog . (5

a b
Gerggs 10: €7 JuT T MiidE U3T I3 A 1-Td M3F y-Ud ‘I JHST MIIUF -3 w3 2 =gt J|
% . fe8a=-3m3 b=2718UIaz M394z U (5) T, Iu™ €t Mmilaees

i+lzl
-3 2

10.3.6 &5 gu (Normal form)%@%@WWF@%&-FWW@%:
(i) H® fdg 3 our '3 g &t gt
(i) BF M3 UEINF x-Ud fegaad € a=
V& 38 fa L fda ur § faret ys fig 0 3 S9avd gt OA = p M3 Ua3HT x-T3 W3 OA

¥ fegad € d ZXOA = 0 J| I9¢H& 3% feg gur L &t A= Afgst 939 10.17 feg feyret aret
JI

A 2x-3y+6=0.

TS AT3T H3T 34T L & €57 (slope) w3 fon '3 fig 9= I 1 79 nfast <o 109 3 S5 AM fdg |

Y
Y A
L
LRA | AT
A A
N\ P
p/ .
] 1 0)
o , MAA
X'<5 I =>X X<~ M 0 X
v v
Y’ 0] (i) Y
4 Y
L A
1 & \ M onN X'& oh d /\ X
X T 0O > X <4 T >
. /P AN
A A
v v
Y’ Y’
(iii) (iv)
f93910.17

I3 AfE3T f<9, ;8 3% OM = p cos 0 M3 MA = p sin o, fer 3g7 fdg A € fagem #id (p cos o, p sin )
J&5 |
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gggT, L 3yt OA 3 89 J, fen st
1 1 COS ®

L3y et ese= - =- =-
OA <t g% tan m sin ®

fer 397 L 3ur &t e - "2 w3 few €27 fig A(pcoso, psine) T fer 9t gwre fig qu

sin ®

N . COS®
WMEHTg IuT L & mildde y— psino=——
SIn o

(x—pcos®) A xcos®+ ysin®= p(sin°® + cos’®)

AT xcosw+ysinw=pJI
Wgwﬁvﬁmﬁeﬁpb@mx-g%méﬁaémwézm%mﬁwwmfw
5’@"’8’ Xcos®W+ysinw=p ... (6)

Gemee 11: feq Jum & milagde u3T a9, fAnet ¥ fig 3 gat 4 feamel W3 UM x-TI M3 BT &
fegarg v = 15° T

5 fa3T I p =4 w3 o = 15° ((F37 10.18).

Y
N
4
15° «
0 \ > X
f¥3910.18
Jc coslS"=\/7+1
22
J3-1
=~ . 0:— .‘)
M3 sin 15 2 (fa€?)
QU3 B9 U (6) 3 Iy € mitage
B+l -1 .
15°+ ysin 15° =4 #7F X+ =4 7 (B+1)x+(B-1)y=8V2
X cos y sin N5 D2 y ( )x ( )y
feg &3tat mitage J1

Gege 12: T9adle 3TUHS F w3 fonfazs 3uns K fea syt mitaee & FAgne aoe 951 fE3T I fa
K=273A€ F=32m3 K=373A€ F=21237| K§Feue fie fed m3 FEer s usTda A K =
0dJl

75 :FE x-U3 3 K& y-U3 '3 T '3 A3 % xy 3% feg € fdg (32, 273) M3 (212,373) T5 1€ fdg qu
3 fdg (F, K) gar HgHe I 7% miidae

K—273=M(F—32) A K-273=100
212-32 180

—(F-32)
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L Kzg(F—32)+273 (1)

+ fa Ser Adu I
mlegs (1) F, 78 K=0 T

273%x9

O:S(F—32)+273 A F-32=- =-491.4 AT F= -4594

gemel fegt -t e g fg qur S mildee T Ae® Uy =mx + c JIfed FF &+ T I M3 K &
y-Ud 3 BT 578 mit milaee § fem gu flR9 S Aae oF : K=mF + ¢ (D
mtaae (1) fdgnt (32, 273) M3 (212, 373) 3 Agwe et J| fem e,

273=32m+c . (2)
w3 373=212m+c .. 3)

(2) M3 (3) § I& dd& '3 Mt YUI dae It

S ez 2297
m—9 c——9
mMI ce NS () ffFedus '3
K:§F+2297 )
9 9

dfad3TerfduJIae K=0,3" 4) FF=-4594

o fEuT | nirft Aree T fa mfide y = mx + ¢ f&9 € Afgg »id m 73 ¢ 75 | fegst € Afeg #at &
U3 g95 BE JuT €t MldeS § HgWe d9s &eT € "3t € 83 I 1 Qudas Adtyt Gergeet YT,
T & AHidde UST I35 BT AS € HI3T fE3tT arett 95 |

| wifer 10.2 |

nifgm 1 3 8 3o 3y €t Mtade U3 99 # I& fEutt Haat & Hgwe dgaet 3—
1. x™3 y ud €™ mitaast faa |

1 e on o
WEWH@ (- 4, 3) fe9 Bwet T
BT m 5% A fig (0, 0) f&9 Swet 31
fég(z,zﬁ)%é‘MeT&Tv@x-g%WBO g 3 gat Jet J|
x - U3 § W% fdg 3 49 U 3 feqret gat '3 dee T8I M3 TF'E 2 THT |
y - 3 & Y& fdg 3 2 fearet §Ug M3 Us3IHT »-J3 &7 30° €7 J< g8l 97|
fdgnt (-1, H M3 (2, - 4) & Swet 3=
H® fdg 3 F9ana gat 5 feamet W3 &9 @19 UETIHA +-Ud 7% 30° €7 IS g3eT I< |

I B Y 7 I )
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11.

12.

14.

15.
16.

17.

18.

19.
20.
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. APQRE AT P (2, 1), Q (-2, 3) M3 R (4, 5) I& | fayg R << Swet Hfgar € mitags usT a9'|

€7 Jur &t mitges u3T 39 7 fiE (-3, 5) feg Bw agt T w3 fdenr (2, 5) W3 (-3, 6) <5 Bwe
T YT I BT J|

fea qur fdgmt (1,0)m3 2,3)§fimGe I se s Idg 3 fen § 1. nfee St J1qur &t
MHlgae u3T a9 |

fear Jur & mitaae U™ 99 7 fogen #id gfomt & garad nigads '3 deet I w3 fig (2, 3) i<
Bt I

. 3uT € milage u3T a9 A i (2,2) iS5 Bw 3t I 3 gfenrt 3 nigods de aat I fagr e 7z 9 J1

-~ —_ = o . o a ~ Y 2 - O a
3y & milaae u3T a9 A fde (0, 2) ff9° Fwet I W3 TEIHT x-Ud 3% ?nazwéﬁalfsﬁr
€ AHT39 M3 y-Ud § H& g 3 Jof < 2 fearet gdt 3 deet 9= JuT & mitdge St U3 3 |
fea 3ur 3 y& fig 3 B9 few & fig (2, 9) 3 fuser J| fem Jur &t mitaee usT a9 |
3 &t 3 °f et L (Rdhites f<9) Agnbva 37U C T dfua g% I fem yGiar <9, Ad9
L=1249423"C=20mM3 L=125.1343" C=1103I L& C € et &g fau|
feg €u 9379 & Hfsd g9 I83 980 fEeg €U 14 gue Y3t feed w3 1220 fdeg €U 16 gue Yt
fgeg 29 naeT I 1 F90® M3 var <9 Sfua A¥u Hae 98 uzT a9 fa € 99 983 17 guT Yt feeq
&% fdar g0 29 Aaer J|

-~ \J ~ o v o 2 -~ 'x 2
P (a, b) Ufen™ € fegarg feq dur ¥5 & Hu-fig 7| few§ fa Jur & mitaee E+%:2 JI
fdg R(h, k) gfent € fegag f€a Jur ¥z § 1: 2 <9 ¥3%7 J1 3y™ €t mldes usT ad |
3y & Mtage € uasT & 293 dde 9F iy &3 fa f3& fde (3, 0), (- 2, - 2) M3 (8,2) maHt I |

10.4 3y €t Auge At femmud mildae (General Equation of a Line)

fugshnt Aett feg, vt © 9% =&t fea w3t femmya 7w mitges, Ax + By + C = 0 979
MPHE I3 ol I il A, B M3 C THIfST 98 I& M3 AW B fead fAgd &dt 96 | AigdE Ax+ By + C=0
T 0TBY IHAT HIS JuT gt I | fer et aet St mitdge F Ax+ By + C =0T gu f<9 9, fAg Am2 B
feas fAed adt 75, fenmua 3yt milade AT JuT & » mitade »ye8<t J1

10.4.1 Ax + By + C = 0 € 4 24 U (Different forms of Ax + By + C = () 3uT €F fenmug mitaaes &
I fedt yfgor arat Su-2y gut fEe guisas &3 A7 AgeT J1
(a)EB"i’ﬁBEﬁB’QU(Slope-intercept form) Add B #03T Ax + By + C = oéfxfu‘rrrrwwﬁl

.

__éx_gﬂ'i' =mx-+c 1
y=—g* gm Y (D
A Y C
m=—— c=——
B B
. =~ . = a a EN A =~ a a C a
mﬁmwﬁr(l)wémﬂmmmwgﬂa,hﬂém—g "3y - #3FF ~ I
~ . C —_ . ~ a a ~ a a Ca
HadB=0,3Tx= N Frfarut-g%’r(vertical)wamﬁmnwfa?rfﬂgamax-W—Xm
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(b) #igads gu (Intercept form) Agd C # 0, 3T Ax + By + C = 0 § few 3¢ fafiorr 77 Aoer T
X .y y
—+—-=1 or Z+==1
€ ¢ a b -~ (2)
A B
C C
frg =——mM3 b=——
A B

- - S N . .. ¢ . . C.
mefa(z)wémﬁaa?@nmguaﬁm?x-m—xnfyy-w—EU|

HId C =0, 37 Ax + By + C = 0& Ax + By = 0, f&ftprm A7 rgeT 9, 7 fa v fide f&9 Swet aur
J, fem wet fere gfewt 3 fAed »i3ads 75|
(c) ¥ gU (Normal form) H& B8 x cos © + y sin © = p 34T fAN & mitdds Ax + By + C = 0 AF

o 2 oo A B C
Ax + By = - C € 89 gU J| »3g'3 €& AHidde A& I& fer &, ==
COS® SsIn ® p

. Ap _ - . Bp
fam & COs O =——— MI sin ) =———
C C
ap\° ( Bp)
: p p
- weoton(22) ()
d sin cos C C
. pz——cz 1_-|T p—+—c
H7 A2+B2 - A2+ B>
A ~ B
few &et cos®m =t ———— MI sino ==

JA’+B? JA*+B?

fern 3gF mftges Ax + By + C= 0T 8T gU xcos 0+ y sin 0 = p J |

f‘ﬁﬁ-COS W=

fog <t €fez =93 fov 397 i3t 7t T fa p us=Ha 39|

Gergge 13 : feq Iy &t miaae 3x — 4y + 10 = 0 T few & (i) BB (i) x M3 y-M3IF U3T F3J |
% () St mileeE 3x -4y + 10 = 0 & few 3¢ ffipur 77 Aaer §

3 5

)’:Zx'i'z e (D)

(1) € IBET y = mx + ¢ 3B AI& I, S 9% a3 Jet mitadde St € m= — JI

N w

(i) FIE 3x -4y + 10 = 0 & few 3g+ fafr A7 AeT §

e . X y_
3x—4y=-10 HT __E 1

3

- (2

N |
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x oy _ - - o . __& o e 5 a
(Z)E’rgw—+b—lwmg,m—a'a¥x-msma_ h{gy—mb—EUl
a

Gegee 14 : mlage 3x+y-8=0& BT U T TEF | p "3 0 T HS U™ J7 |
7% ¢ &3t 9t mitaee
Vx+y-8=0 (D)

MF (V3) + (1) =257 3 7w °3

?x+%y=4 AT cos 30°x+sin 30° y=4 .. (2

()T IBET xcos w+ ysinw=p EIB AIE T, p=4M3 ©=30°TI
Gegee 15: =t y—\3x-5=0"3 By-x+6=0 fe9ad I= U3T JT|
J : fe3tt quret 95—

y—B3x=5=07" y=+3x+5 - (D)
=~ . 1
w3 By—x+6=07 y=ﬁx—2ﬁ - (2)
1

() S eseEm = 33 U ) S EB T m, = el g

€ dyr=t € fegaq faGe d= 0 (s Q) fem 397 T

m, —m
tanf = | —2—L
1+mm, - 3)
m M3 m, € U (3) feg due '3, yu3 o< It
1
— =3
J3 3 1-3 1
tan0 = 1 = \/7 :T
l+\/§><— 243 3
V3
fam 30 =30° yruz ger 3, fem set € quret fegarg de A 30°AT 180° — 30° = 150° T |
Gegee 16: few@ fa € quergx+by+c,=0 M3 aux+by+c,=0 &b, b, 20
(i) ™39 T8 7ag L =L wZ (i) Fa-o0 '3 B T8 79T aia> +bib, =0
b b
J5 : f&3hort Juret § few 39t fafionr 77 FgeT 9
a 9|
=——x—-——
y b b (D)
- __ D ]
e y=—Ttx—o= (2

by b
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et () w3 ) S eser giETm = -~ A wFm, = -2 75, 7=

2 -
2

() IUT=T AHTIT TS, AT m, = m,, AR
Y4 4 B
bl_ 192 bl b2'
(i) U=t B IS, AAI m.m, = 1, fAn '
aq 4

bb =—lataa +bb =0
Eegae 17 : T ur St mitgee U3T AT A U™ x -2y + 3 =03 BF I w3 fdg (1, - 2) S5 Bw gt T1
J% : fE3t I qum x - 2y + 3 = 0 & few 3§ ffiour 77 AgET §
1,3 1
y=gxts (D)
S 1& a S o S
W(l)ﬁmml=53|fgﬂ'gﬁaﬂ7(l) '3 Y JUT I €BE
1

m2 :__:_2
n

TBe - 2 w3 fdg (1, - 2) f<9 Bw 3ot 3y €t milaee

y=(=2)=-2(x-1) A y=-2x,
# fa 31t mitage J1
10.5 f€ fdg &t 3ur 3" gat (Distance of a Point From a Line)
feg ffg et ffgaur I e, Crfdfe I I o TR ST S ST T L: Ax+ By + C = 0 €
qur g, fAm S fig P (v, y) 3 & d J1 39T L 3 ffg P 3 PM 87 fifS (939 10.19) | 73 39T x-m3 -
- . = n s o pe me o C - C
gHE;YWngQMER’S’ﬁ-WETU;BTngWFEﬁ'ﬁEHWQ[—X, OJWR(O, —gjamfzrﬁr
397 f3g7 PQR T 439 I

L:Ax+By+C=0
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- - 2 Y¥3de% (APQR
HBH%H(APQR)=%PM.QR,W3' PM = QR( QR) (D
1 C c) C 1| C C?
3y APQR) =— O+—=|+|— || —=y,|+0(y,-0) ==|x; =+ y,—+—
feg 3 ¥zgem (APQR) 2%( Bj ( Aj( B le ( )‘ B T A T AR
S C -~ cY (c )2 C
t 243de& (APQR) =|—. [Ax;+By,+C|, M3 QR=,/[0+=| +|=-0]| =|— 2412
L ( Q)‘AB‘|XI Y | Q \/( A) = B VA’+B
Y398 (APQR) M3 QR € W& (1) f&9 dus '3, is a&
PM=| Ax+By,+C| . d=| Ax+By,+C|

VA*+B? " VA*+B?

waE3 faig (x, y,) 3 U & BIHF Tt (d) I

d=| Ax;+By, +C|
JA?+B?

10.5.1 & mi'5g gue’ fegara gdl (Distance between two parallel lines) WAt Aree It fq € AHT3g Jur=t

@1t %St (Slopes) 99799 JEtt I5 | fen Bt € AHT39 duret § I5 fau gu feg femm 7 Ager J—
y=mx+c, .. (1)

mI y=mx+c, .. (2)

¢,
m

ﬁgalo.zofevhw%nm,%wu)x-g%gfﬁgA( : Oj’ésﬁm’n

X'€ > X
v A-=Lo)©
ffg9 10.20
€ yret &t gat, fig A 3 U (2) 3 Fuand gt € ATs J | fer st dur (1) M3 (2) € fegag gat 3¢
G B
(o5 )+ic) ome, |

-I-rn2 B +m .
V1 1+m?
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laze | o
N 1-|-yn2

Had =T WM™ (AUT3E) (General Form) gu f&9 f&3tut 3= # fa Ax + By + C, = 03 Ax + By

MAES € UL y=mx+cM3 y=mx+c, © fega9 € gt d=

C -C
+C, =0, 3" QUIF3 AT €T JU g A=A d=%
+

fefenragt fem & »rue wmy AEfuz a9 Aae I5 |

Gemee 18: fdg 3, -5) & duT 3x -4y 26=03 gt UST AT |

d%  fEgt Jet U 3x -4y 26=07 . (1)

(1) € 3B&T U™ & W™ MHIFaE Ax + By + C = 0 &% dd& '3
A=3B=-4mM3 C=-26.

fégr fdg (x,y,)=(3,-5) J1fE3 J¢ fdg <t fEt get qur 3 gt

. | Ax +By,+C _ [3.3+(~4)(-5) - 26 3
J A*+B’ V3 +(4) 5

Gemee 19 : AMT3T U=t 3x — 4y +7 = 0 M3 3x -4y + 5=0 € fega™g gdt U3 I3 |

) (VL ~ EN — . 7—5 2a
7% fe§A=3,B=-4,C, =7M3 C,=5J|fen et g3t gat d:#:_g|
S . s
3°+(-4)
| mifemm 10.3 |

1. 35 fadtt mitaget § esTe-139ds gu <o 5v8 w3 feust €t €8 w3 y - M3ads u3T ad |

i) x+7y=0 (i) 6x+3y-5=0 (i) y =0
2. J& faubdt mitaget § »igads gu feg ge8 3 fegst & gfewt 3 #igads usT 93 |

(i) 3x+2y—12=0 (i) 4x-3y=6, (iii) 3y+2=0

3. J& fedbrt mitaget § &9 gu <o a8 | fegast &t ys fig 3 gt w3 fer 3 89 W3 TaTaHT «-
gd fegard d= u3T a9 |
() x-By+8=0 (i) y-2=0 (iii)) x-y=4

4. g (-1, 1) S 12(x +6) = 5(y - 2) T I UST AT |

5. x-U9 3 €9 ffg us a9 fAgt &t aur §+%=1§r‘g—cﬁr4f€3ﬁ8’rfr|

6. AHT33 Ju=t & fegarg gt usT g9—

(i)15x+8y—34=0>1~r§15x+8y+31:0 (i1) l(x+y)+p:0>7~l'§l(x+y)—r:0
7. U € mitgde UST A9 A T 3x—4y+2=0 € AHT3T I M3 fig (-2, 3) ST Sw It I
8. Jur S MftgeE UST AT H ATk~ Ty + 5 =03 ¥ I w3 fEg (- 2, 3) [T Sw gt 31
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11.

12.

13.

14.

15.
16.

17.

18.
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. YT 3yt y=1mI x+3y=1 € feva9 g UzT FT |

faentt (h, 3) M3 (4, 1) ST Bwes =TS U, 3um 7x -9y —19=0F AHIT A< 3 deeT J | h T HS

u3T J9 |

fig a3 fa fdg (v, y) f[<9° Bwe =8t W3 Ax + By + C=0¢ AHT3T ayT
A(x-x)+B(y-y)=0J

fag (2, 3) feg Bw ggtmt € Jur=t feq ga & 60°3 deeT U5 | AaT fed Jur &t ¥&'< 2,9, 37

grt 3uT € AHideE U3T J4 |

fdent (3, 4) M3 (-1, 2) § e B T& Ty 43 € B ANEIAT (right bisector) € Mg u3T

el

fdg (-1,3) U 3x -4y — 16 = 0 3 HS I BY & »u™g fd€ (Foot of perpendicular) € fagen »ia

Uy3T dd |

);I'&'f‘éfl‘gé'a":ﬂ'y:mx+c@ﬁgfgﬁéﬁg(—l,Z)@ﬁ-Wﬁ'lmm@c@'g'&'U?aﬁl

Hdd p M3 ¢ HS fdg 3 qHE9 JU=T xcos0 — ysinO = k cos 20 M3 x sec O +y cosec O =k, 3 ¥F

Tt Bavetnt I, 3 T a9 fa p? + 4¢* = K2

AABC © fAad A (2, 3), B (4, -1) M3 C (1, 2) I&, AT A 3 AroHS =78t 94T 3 He 39 < m{tads

M3 BITET UST a9 |

A9 p ¥ fdg 3 OF JuT € He I B9 &t s9rel I=, fAne gfenr 3 wizqds a M3 b, 37 feu§

1
fa == 5+t 3

§2a® Gergget

Geae 20 : AG9 JY=T 2x+y—-3=0, Sx+ky—3=0 M3 3x— y—2=0HI™ (Concurrent) I& 3T k
H& U3T 39 |

1% : f3s Juret § Hamit fagr Afer § Aag €9 fea A3 fig fev' T & Swe miggs € Juref er gre fig
ST Jur '3 9= | i &3t Jur=t s -

2x+y-3=0 . (D)
5x+ky-3=0 .. 2)
3x-y-2=0 .. 3)

(1) m3 (3) & f309&t e feut ot I8 a9 '3 75 3%

x _y 1
-2-3 -9+4 -2-3

A x=1, y=1

fem et € quret v ae fig (1, 1) I | faffa Qudas 3= qur=t Hamit g5, fem et fde (1,1) mitges
(2) & FigHe Jdar fem set

50+k.1-3=0ATk=-2
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Gewae 21 : fdg (4, 1) 3 U™ 4x — y = 0 F Tt G0 Jur & fenr f<9 U3™ 33 7 &30 »-T3 &7 135°
o T gt I

9% fet e urax -y =03 o (D

fest et dur (1) €t fdg P (4, 1) 3 fan I Jur < ferr ST gat u3™ I35 BT, Ag E&T JU=T &7 e
fdg U3 J9aT J=qr | fewr §<n &et, it gAt Jur & milage u3T Fatar| (f939 10.21)

Y
N
\ y=4x
Q(1,4)
P@4,1)
P 135°
>X
o \
fg3910.21

THT 3UT € €% tan 135° =1 T EF' — | M3 P (4, 1) feg Swet qur & mitges
y—l=—1(x-4)ATx+y-5=0 T (2

(HM3 (2Q)FIF TS I, x=1M3y=47, fengea ey erae fdfg Q (1,4 JIge dur (1) € fig

P (4, 1) 3 3ur (2) €t feur ST gat = fdent P (4, 1) M3 Q (1, 4) fegara gat

= J1- 2%+ (4-1)% =372 fearet
Gegae 22 : feg Hae I fq Ao Ju=t feq fdg &t gaus & JH Joemt Is, fdg (1, 2) &

U x -3y +4 =0 &9 yf3fda (image) U™ JT |
7% H& 8§ Q (h, k) fdE P (1, 2) &7 3um x — 3y + 4 = 0 {5 yf3fdg 1 o ()

N




few ®et, JuT (1), 3UT 45 PQ € BI-AHEgHA J [(f¥3910.22)]

. -1
HIETS JUTPQ R BB = o x—=3y+4=0<t E®=

—

few wet k-2_

—“——  HA 3h+k=5 . (2)
h-1 1
3
- o . L (htl k+2) L. -
w3 PQ € Hu fdg, »@g3 fig S T, |mitasE (1) & HIHe J9a
ferr #et %—3 [k—;zj+4=o 7 h-3k=-3 - (3)

. e - 6 . 7 - .
(2)71{3(3)58'8'6(6?:7’3h:§71{3k:§qfu36(3€3ﬂ

o -~ v o 6 7 2
W?ﬁg(l,Z)ETBHTx—Sy+4=Of€€L[f3ﬁ3( jUI

55
Gegge 23 : few@ fa U=t y=mx+c,y =myx+c, M3 x = 0 @HI" gt f3gA T 433EH
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